Admiral LNC6766A77 03 - CONTROL PANEL

Admiral Residential Admiral LNC6766A77 Washer Parts Parts Diagram 03 - CONTROL PANEL
Click on the part number to view part

1 21001738 Panel, Control
2 21001557 21001769 Endcap, Panel
" 25.3092 90767 Screw, 8A X 3/8 HeX Washer

Head Tapping
& 21001564 21001768 Endcap, Panel
Screw, 8A X 3/8 HeX Washer

25-3092 90767 BEZthTAoing

4 25.3092 90767 Screw, 8A X 3/8 HeX Washer
1 B Head Tapping

" 21001226 Switlc_h, Water Temp. 4

Position

5 21001554 Switch, Water Level

" 25.3092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

6 21001563 Skirt

7 21001559 21001770 Knob, Timer

8 25-7851 Speedclip, End Cap To Top

9 21001560 21001767 Frame


http://www.pwslaundry.com/c-502732-residential-admiral-lnc6766a77-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10394513-admiral-21001738-washer-panel-control.html
http://www.pwslaundry.com/i-10393865-admiral-21001769-washer-endcap-panel.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393866-admiral-21001768-washer-endcap-panel.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393012-admiral-21001226-washer-switch-water-temp-4-position.html
http://www.pwslaundry.com/i-10392912-admiral-21001554-washer-dryer-switch-water-level.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393051-admiral-21001563-washer-skirt.html
http://www.pwslaundry.com/i-10393868-admiral-21001770-washer-knob-timer.html
http://www.pwslaundry.com/i-10392671-admiral-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10393869-admiral-21001767-washer-frame.html

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

13 21001517 Shield, Control

" 53-2504 31001193 Pad, Shield

14 21001227 21001673 Switch, Speed 4 Pos Rotary

16 21001483 Switch, Rocker

18 21001579 Manual, Use And Care


http://www.pwslaundry.com/i-10392919-admiral-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393052-admiral-21001595-washer-timer.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393870-admiral-21001772-washer-knob-selector.html
http://www.pwslaundry.com/i-10392925-admiral-21001517-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10393020-admiral-21001603-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10392924-admiral-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10392924-admiral-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10393049-admiral-21001673-washer-switch-speed-4-pos-rotary.html
http://www.pwslaundry.com/i-10396490-admiral-74008765-washer-switch-rocker.html
http://www.pwslaundry.com/i-10394514-admiral-21001483-washer-switch-rocker.html
http://www.pwslaundry.com/i-10393110-admiral-31001397-washer-dryer-buzzer.html
http://www.pwslaundry.com/i-10394469-admiral-21001579-washer-manual-use-and-care.html

	Admiral LNC6766A77 03 - CONTROL PANEL

